

208-8
BLUE-MAR

Filters: Start Date - 2/18/2000; End Date - 2/18/2026; Business unit applies to: - Equipment Business Unit; Equipment - D6T LGP CAT DOZER [7869]

Work Order:	4739	Status:	Transferred
Equipment:	D6T LGP CAT DOZER [7869]	Serial Number:	CAT00D6TCK1R00172
Work Location:	Rocky Mountain House Shop	Business Unit:	Machinery
Created by:	Equipement Maintenance	Start Date:	8/6/2019
Kms:	9000	Stop Date:	8/6/2019
Hr:	9003		

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
			Total Labor	\$0.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$0.00

Notes: MIDWEST RDR687

Item ID	Description	Completed By	Reported Hours
5988	0250 Hour Service		0.00

- * Change engine oil.
- * Change engine oil filter.
- * Check all fluids.
- * Complete grease.

Work Order:	6549	Status:	Transferred
Equipment:	D6T LGP CAT DOZER [7869]	Serial Number:	CAT00D6TCK1R00172
Work Location:	Rocky Mountain House Shop	Business Unit:	Machinery
Created by:	Carla Merklin	Start Date:	10/30/2019
Kms:	9000	Stop Date:	11/22/2019
Hr:	9003		

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
			Total Labor	\$0.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$0.00

Notes: MIDWEST RDR687

Item ID	Description	Completed By	Reported Hours
8243	0500 Hour Service		0.00

- * Change engine oil.
- * Change all filters.
- * Check pivot shaft oil.
- * Check equalizer bar oil.
- * Check all fluids.
- * Complete grease.
- * Sample all oils.

Work Order:	7763	Status:	Transferred
Equipment:	D6T LGP CAT DOZER [7869]	Serial Number:	CAT00D6TCK1R00172
Work Location:	Rocky Mountain House Shop	Business Unit:	Machinery
Created by:	Carla Merklin	Start Date:	1/9/2020
Kms:	9000	Stop Date:	1/31/2020
Hr:	9003		

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
			Total Labor	\$0.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$0.00

Notes: MIDWEST DR6003

Item ID	Description	Completed By	Reported Hours
12440	0250 Hour Service		0.00

- * Change engine oil.
- * Change engine oil filter.
- * Check all fluids.
- * Complete grease.

Work Order: 8825
Equipment: D6T LGP CAT DOZER [7869]
Work Location: Rocky Mountain House Shop
Created by: Carla Merklin
Kms: 9000
Hr: 9003

Status: Transferred
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date: 2/21/2020
Stop Date: 2/24/2020

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
			Total Labor	\$0.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$0.00

Notes: MIDWEST DR6003

Item ID	Description	Completed By	Reported Hours
14223	1000 Hour Service		0.00

- * Change all filters.
- * Change engine oil.
- * Change transmission oil.
- * Change final drive oils.
- * Change winch oil (if applicable).
- * Check pivot shaft oil.
- * Check equalizer bar oil.
- * Check all fluids.
- * Complete grease.
- * Sample all oils.

Work Order: 9526
Equipment: D6T LGP CAT DOZER [7869]
Work Location:
Created by: Carla Merklin
Kms: 9000
Hr: 9003

Status: Transferred
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date:
Stop Date:

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
			Total Labor	\$0.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$0.00

Notes: MIDWEST DR6003

Item ID	Description	Completed By	Reported Hours
15917	0250 Hour Service		0.00

- * Change engine oil.
- * Change engine oil filter.
- * Check all fluids.
- * Complete grease.

Work Order:	12784	Status:	Transferred
Equipment:	D6T LGP CAT DOZER [7869]	Serial Number:	CAT00D6TCK1R00172
Work Location:		Business Unit:	Machinery
Created by:	Trace Pidherney	Start Date:	
Kms:	9000	Stop Date:	
Hr:	9003		

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
			Total Labor	\$0.00
MNPT HH PLUG [01CP2]	2.00	Each	\$0.93	\$1.86
SPARK PLUG FOR USE WITH WIRE ASSY 2956244 [2953099]	1.00	Each	\$15.17	\$15.17
WIRE ASSY FOR SPARK PLUG 2953099 [2956244]	1.00	Each	\$189.79	\$189.79
			Total Parts	\$206.82
			Total Equip	\$0.00
			Total Cost	\$206.82

Item ID	Description	Completed By	Reported Hours
21406	7869 - DIRECT BILL		0.00

Work Order:	12985	Status:	Transferred
Equipment:	D6T LGP CAT DOZER [7869]	Serial Number:	CAT00D6TCK1R00172
Work Location:	MIDWEST DRY RENTAL	Business Unit:	Machinery
Created by:	Carla Merklin	Start Date:	7/1/2020
Kms:	9000	Stop Date:	7/3/2020
Hr:	9003		

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
HERMANN KUKOWSKI	2.00	RT Shop Mech Field	\$54.00	\$108.00
			Total Labor	\$108.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$108.00

Item ID	Description	Completed By	Reported Hours
21754	7869 -pitch link swap	Carla Merklin	2.00

Work Order: 14737
Equipment: D6T LGP CAT DOZER [7869]
Work Location:
Created by: Carla Merklin
Kms: 9000
Hr: 9003

Status: Transferred
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date:
Stop Date:

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
			Total Labor	\$0.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$0.00

Notes: DR6003

Item ID	Description	Completed By	Reported Hours
23811	0500 Hour Service	Carla Merklin	0.00

- * Change engine oil.
- * Change all filters.
- * Check pivot shaft oil.
- * Check equalizer bar oil.
- * Check all fluids.
- * Complete grease.
- * Sample all oils.

Work Order: 15908
Equipment: D6T LGP CAT DOZER [7869]
Work Location:
Created by: Carla Merklin
Kms: 9000
Hr: 9003

Status: Transferred
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date:
Stop Date:

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
			Total Labor	\$0.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$0.00

Notes: DR6003

Item ID	Description	Completed By	Reported Hours
27166	0250 Hour Service	Carla Merklin	0.00

- * Change engine oil.
- * Change engine oil filter.
- * Check all fluids.
- * Complete grease.

Work Order: 16862
Equipment: D6T LGP CAT DOZER [7869]
Work Location:
Created by: Carla Merklin
Kms: 9000
Hr: 9003

Status: Transferred
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date:
Stop Date:

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
			Total Labor	\$0.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$0.00

Notes: DR6003

Item ID	Description	Completed By	Reported Hours
28288	1000 Hour Service	Carla Merklin	0.00

- * Change all filters.
- * Change engine oil.
- * Change transmission oil.
- * Change final drive oils.
- * Change winch oil (if applicable).
- * Check pivot shaft oil.
- * Check equalizer bar oil.
- * Check all fluids.
- * Complete grease.
- * Sample all oils.

Work Order:	19388	Status:	Transferred
Equipment:	D6T LGP CAT DOZER [7869]	Serial Number:	CAT00D6TCK1R00172
Work Location:		Business Unit:	Machinery
Created by:	Carla Merklin	Start Date:	
Kms:	9000	Stop Date:	
Hr:	9003		

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
			Total Labor	\$0.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$0.00

Notes: DR6003
1705

Item ID	Description	Completed By	Reported Hours
34051	0500 Hour Service	Carla Merklin	0.00

- * Change engine oil.
- * Change all filters.
- * Check pivot shaft oil.
- * Check equalizer bar oil.
- * Check all fluids.
- * Complete grease.
- * Sample all oils.

Work Order: 20643
Equipment: D6T LGP CAT DOZER [7869]
Work Location:
Created by: Carla Merklin
Kms: 9000
Hr: 9003

Status: Transferred
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date:
Stop Date:

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
			Total Labor	\$0.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$0.00

Notes: DR6003

Item ID	Description	Completed By	Reported Hours
36005	0250 Hour Service	Carla Merklin	0.00

- * Change engine oil.
- * Change engine filters -- oil and air.
- * Check all fluids.
- * Complete grease.

Work Order: 22524
Equipment: D6T LGP CAT DOZER [7869]
Work Location:
Created by: Carla Merklin
Kms: 9000
Hr: 9003

Status: Transferred
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date:
Stop Date:

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
			Total Labor	\$0.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$0.00

Notes: FUEL SYSTEM REPAIR IN FIELD
 COMPLAINT:ARD FUEL PRESSURE CODES ACTIVE_CAUSE:Out of date software.SOFTWARE PART# 5674604
 Hook up E.T and download status report.Hits for high ARD fuel pressure were logged.Clear code, start unit and try to run ARD ignition test,failed.Download and update all software in machine for emissionssystem and engine.Shut off key for 2min. Start up unit and try ARD ignitiontest again, failed. ARD fuel pressure too high.Run ARD head heater nozzle test, 5amps. Passed.Suspect ARD fuel pump is starting to fail giving pressurespikes. Installed guarding.Cleared code, packed up tooling and cleaned up mess.Travel from unit.Service report._MAY 7Dennis Peyton (1.0hrs)Talked to customer, software update fixed the issues. Nocodes in the last couple weeks. Completed service report.Closed work order.

Item ID	Description	Completed By	Reported Hours
40988	7869 - FINNING 962080745	Carla Merklin	0.00

Work Order: 22639
Equipment: D6T LGP CAT DOZER [7869]
Work Location:
Created by: Carla Merklin
Kms: 9000
Hr: 9003

Status: Transferred
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date:
Stop Date:

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
			Total Labor	\$0.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$0.00

Notes: DR6003 1705

Item ID	Description	Completed By	Reported Hours
40408	1000 Hour Service	Carla Merklin	0.00

- * Change all filters.
- * Change engine oil.
- * Change transmission oil.
- * Change final drive oils.
- * Change winch oil (if applicable).
- * Check pivot shaft oil.
- * Check equalizer bar oil.
- * Check all fluids.
- * Complete grease.
- * Sample all oils.

Work Order:	24569	Status:	Transferred
Equipment:	D6T LGP CAT DOZER [7869]	Serial Number:	CAT00D6TCK1R00172
Work Location:		Business Unit:	Machinery
Created by:	Carla Merklin	Start Date:	
Kms:	9000	Stop Date:	
Hr:	9003		

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
			Total Labor	\$0.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$0.00

Notes: DR6003 1705

Item ID	Description	Completed By	Reported Hours
44065	0250 Hour Service	Carla Merklin	0.00

- * Change engine oil.
- * Change engine filters -- oil and air.
- * Check all fluids.
- * Complete grease.

Work Order: 26081
Equipment: D6T LGP CAT DOZER [7869]
Work Location:
Created by: Carla Merklin
Kms: 9000
Hr: 9003

Status: Transferred
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date:
Stop Date:

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
			Total Labor	\$0.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$0.00

Notes: DR6003 1705

Item ID	Description	Completed By	Reported Hours
47929	0500 Hour Service	Carla Merklin	0.00

- * Change engine oil.
- * Change all filters.
- * Check pivot shaft oil.
- * Check equalizer bar oil.
- * Check all fluids.
- * Complete grease.
- * Sample all oils.

Work Order: 27651
Equipment: D6T LGP CAT DOZER [7869]
Work Location:
Created by: Carla Merklin
Kms: 9000
Hr: 9003

Status: Transferred
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date:
Stop Date:

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
			Total Labor	\$0.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$0.00

Notes: DR6003 1705

Item ID	Description	Completed By	Reported Hours
47991	0250 Hour Service	Carla Merklin	0.00

- * Change engine oil.
- * Change engine filters -- oil and air.
- * Check all fluids.
- * Complete grease.
- * Sample engine oil.

Work Order: 30219
Equipment: D6T LGP CAT DOZER [7869]
Work Location:
Created by: Carla Merklin
Kms: 9000
Hr: 9003

Status: Transferred
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date:
Stop Date:

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
			Total Labor	\$0.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$0.00

Notes: DR6003 1705

Item ID	Description	Completed By	Reported Hours
49927	0500 Hour Service	Carla Merklin	0.00

- * Change engine oil.
- * Change all filters.
- * Check pivot shaft oil.
- * Check equalizer bar oil.
- * Check all fluids.
- * Complete grease.
- * Sample all oils.

Work Order:	36751	Status:	Transferred
Equipment:	D6T LGP CAT DOZER [7869]	Serial Number:	CAT00D6TCK1R00172
Work Location:		Business Unit:	Machinery
Created by:	Carla Merklin	Start Date:	
Kms:	9000	Stop Date:	
Hr:	9003		

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
			Total Labor	\$0.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$0.00

Notes: dr6003

Item ID	Description	Completed By	Reported Hours
66375	0500 Hour Service	Carla Merklin	0.00

- * Change engine oil.
- * Change all filters.
- * Check pivot shaft oil.
- * Check equalizer bar oil.
- * Check all fluids.
- * Complete grease.
- * Sample all oils.

Work Order: 37882
Equipment: D6T LGP CAT DOZER [7869]
Work Location:
Created by: Brittinni Lockard
Kms: 9000
Hr: 9003

Status: Transferred
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date:
Stop Date:

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
			Total Labor	\$0.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$0.00

Notes: 4784HRS

Item ID	Description	Completed By	Reported Hours
68853	0250 Hour Service	Brittinni Lockard	0.00

- * Change engine oil.
- * Change engine filters -- oil and air.
- * Check all fluids.
- * Complete grease.
- * Sample engine oil.

Work Order: 39740
Equipment: D6T LGP CAT DOZER [7869]
Work Location:
Created by: Brittinni Lockard
Kms: 9000
Hr: 9003

Status: Transferred
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date:
Stop Date:

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
			Total Labor	\$0.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$0.00

Item ID	Description	Completed By	Reported Hours
71776	1000 Hour Service	Brittinni Lockard	0.00

- * Change all filters.
- * Change engine oil.
- * Change transmission oil.
- * Change final drive oils.
- * Change winch oil (if applicable).
- * Check pivot shaft oil.
- * Check equalizer bar oil.
- * Check all fluids.
- * Complete grease.
- * Sample all oils.

Work Order:	41306	Status:	Transferred
Equipment:	D6T LGP CAT DOZER [7869]	Serial Number:	CAT00D6TCK1R00172
Work Location:		Business Unit:	Machinery
Created by:	Brittinni Lockard	Start Date:	
Kms:	9000	Stop Date:	
Hr:	9003		

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
			Total Labor	\$0.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$0.00

Item ID	Description	Completed By	Reported Hours
73654	0250 Hour Service	Brittinni Lockard	0.00

- * Change engine oil.
- * Change engine filters -- oil and air.
- * Check all fluids.
- * Complete grease.
- * Sample engine oil.

Work Order: 44340
Equipment: D6T LGP CAT DOZER [7869]
Work Location:
Created by: Brittinni Lockard
Kms: 9000
Hr: 9003

Status: Transferred
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date:
Stop Date:

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
			Total Labor	\$0.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$0.00

Item ID	Description	Completed By	Reported Hours
71418	0500 Hour Service	Brittinni Lockard	0.00

- * Change engine oil.
- * Change all filters.
- * Check pivot shaft oil.
- * Check equalizer bar oil.
- * Check all fluids.
- * Complete grease.
- * Sample all oils.

Work Order: 45193
Equipment: D6T LGP CAT DOZER [7869]
Work Location:
Created by: Brittinni Lockard
Kms: 9000
Hr: 9003

Status: Transferred
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date:
Stop Date:

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
			Total Labor	\$0.00
BEARING {8G4189, 5075312, 566-50-11461, 5665011461} [GE60ES2RS]	2.00	Each	\$53.66	\$107.32
PIN- EQUALIZER BAR OUTSIDE [2814015]	2.00	Each	\$113.31	\$226.62
SEAL - EQUALIZER BAR [1390566]	4.00	Each	\$273.78	\$1,095.12
			Total Parts	\$1,429.06
			Total Equip	\$0.00
			Total Cost	\$1,429.06

Item ID	Description	Completed By	Reported Hours
---------	-------------	--------------	----------------

81809 0250 Hour Service

Brittinni Lockard

0.00

- * Change engine oil.
- * Change engine filters -- oil and air.
- * Check all fluids.
- * Complete grease.
- * Sample engine oil.

Work Order:	46823	Status:	Transferred
Equipment:	D6T LGP CAT DOZER [7869]	Serial Number:	CAT00D6TCK1R00172
Work Location:	Rocky Mountain House Shop	Business Unit:	Machinery
Created by:	John Giberson	Start Date:	10/2/2023
Kms:	9000	Stop Date:	10/2/2023
Hr:	9003		

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
JOHN GIBERSON	12.50	RT Shop Mech Rky	\$49.05	\$613.13
			Total Labor	\$613.13
BOLT-HEX HEA 1739685[Custom]	4.00	Each	\$11.91	\$47.64
GUARD AS 6099275[Custom]	1.00	Each	\$1,395.84	\$1,395.84
QUICK ATTACH NUT [201114]	5.00	Each	\$9.50	\$47.52
SPACER 1662287[Custom]	4.00	Each	\$63.30	\$253.20
			Total Parts	\$1,744.20
			Total Equip	\$0.00
			Total Cost	\$2,357.32

Item ID	Description	Completed By	Reported Hours
86336	7869 OES check over	Brittinni Lockard	12.50

Work Order:	46865	Status:	Transferred
Equipment:	D6T LGP CAT DOZER [7869]	Serial Number:	CAT00D6TCK1R00172
Work Location:		Business Unit:	Machinery
Created by:	Brittinni Lockard	Start Date:	
Kms:	9000	Stop Date:	
Hr:	9003		

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
			Total Labor	\$0.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$0.00

Item ID	Description	Completed By	Reported Hours
86405	1000 Hour Service	Brittinni Lockard	0.00

- * Change all filters.
- * Change engine oil.
- * Change transmission oil.
- * Change final drive oils.
- * Change winch oil (if applicable).
- * Check pivot shaft oil.
- * Check equalizer bar oil.
- * Check all fluids.
- * Complete grease.
- * Sample all oils.

Work Order:	47046	Status:	Transferred
Equipment:	D6T LGP CAT DOZER [7869]	Serial Number:	CAT00D6TCK1R00172
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Cody Brown	Start Date:	10/10/2023
Kms:	9000	Stop Date:	10/10/2023
Hr:	9003		

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
CODY BROWN	4.50 RT	Shop Mech Rky	\$49.05	\$220.73
			Total Labor	\$220.73
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$220.73

Item ID	Description	Completed By	Reported Hours
86737	7869-OES outoging rental inspection	Brittinni Lockard	4.50

Work Order:	48959	Status:	Transferred
Equipment:	D6T LGP CAT DOZER [7869]	Serial Number:	CAT00D6TCK1R00172
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Carla Merklin	Start Date:	12/4/2023
Kms:	9000	Stop Date:	12/4/2023
Hr:	9003		

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
KENDRICK ROBINSON	5.00 RT	Shop Mech Rky	\$49.05	\$245.25
			Total Labor	\$245.25
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$245.25

Item ID	Description	Completed By	Reported Hours
90099	7869 - replace AC mount	Brittinni Lockard	5.00

Work Order: 49025
Equipment: D6T LGP CAT DOZER [7869]
Work Location: Current Equipment Location
Created by: BrittlInni Lockard
Kms: 9000
Hr: 9003

Status: Transferred
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date: 12/5/2023
Stop Date: 12/5/2023

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
JOHN GIBERSON	11.50 RT	Shop Mech Rky	\$49.05	\$564.08
			Total Labor	\$564.08
BEARING - SPHERICAL PLAIN {9M1328, SBB-32} [GEZ50ES2RS]	1.00 Each		\$44.65	\$44.65
BEARING - SPHERICAL PLAIN {9M1328, SBB-32} [GEZ50ES2RS]	1.00 Each		\$44.65	\$44.65
BULB - 24V, 70 W [H370]	1.00 Each		\$5.95	\$5.95
SNAP RING {1K6985} [N13000315]	2.00 Each		\$14.97	\$29.94
			Total Parts	\$125.19
			Total Equip	\$0.00
			Total Cost	\$689.27

Item ID	Description	Completed By	Reported Hours
90238	7869 - RETURN INSPECTION	Carla Merklin	11.50

Work Order: 49075
Equipment: D6T LGP CAT DOZER [7869]
Work Location: Current Equipment Location
Created by: Carla Merklin
Kms: 9000
Hr: 9003

Status: Transferred
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date: 12/7/2023
Stop Date: 12/7/2023

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	2.00 RT	Shop Lube	\$41.17	\$82.34
			Total Labor	\$82.34
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$82.34

Item ID	Description	Completed By	Reported Hours
89328	0250 Hour Service	Anthony Rodriguez	2.00

- * Change engine oil.
- * Change engine filters -- oil and air.
- * Check all fluids.
- * Complete grease.
- * Sample engine oil.

Work Order: 49289
Equipment: D6T LGP CAT DOZER [7869]
Work Location: Current Equipment Location
Created by: Clayton Michelson
Kms: 9000
Hr: 9003

Status: Transferred
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date: 12/12/2023
Stop Date: 12/12/2023

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
CLAYTON MICHELSON	2.50 RT	Shop Weld Field	\$55.71	\$139.28
			Total Labor	\$139.28
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$139.28

Item ID	Description	Completed By	Reported Hours
90616	7869	Carla Merklin	2.50

Work Order: 49290
Equipment: D6T LGP CAT DOZER [7869]
Work Location: Current Equipment Location
Created by: Clayton Michelson
Kms: 9000
Hr: 9003

Status: Transferred
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date: 12/12/2023
Stop Date: 12/12/2023

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
CLAYTON MICHELSON	5.00 RT	Shop Weld Field	\$55.71	\$278.55
			Total Labor	\$278.55
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$278.55

Item ID	Description	Completed By	Reported Hours
90617	7869 corking	Carla Merklin	5.00

Work Order: 52122
Equipment: D6T LGP CAT DOZER [7869]
Work Location: Current Equipment Location
Created by: Brittinni Lockard
Kms: 9000
Hr: 9003

Status: Transferred
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date: 3/15/2024
Stop Date: 3/15/2024

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
AARON SAMUELSON	11.00 RT	Shop Mech Field	\$59.34	\$652.74
ALLAN SUTHERLAND	12.50 RT	Shop Mech Field	\$59.34	\$741.75
			Total Labor	\$1,394.49
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$1,394.49

Item ID	Description	Completed By	Reported Hours
95753	7869 - REPAIRS, INSTALL TRIMBLE GPS	Andrew Matus	23.50

Work Order: 53421
Equipment: D6T LGP CAT DOZER [7869]
Work Location: Current Equipment Location
Created by: Carla Merklin
Kms: 9000
Hr: 9003

Status: Closed
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date: 4/22/2024
Stop Date: 4/22/2024

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
			Total Labor	\$0.00
SHIM *LOOK IN SHIM BIN 1H3D* [9W7602]	11.00 Each		\$5.06	\$55.66
			Total Parts	\$55.66
			Total Equip	\$0.00
			Total Cost	\$55.66

Notes: bart derks

Item ID	Description	Completed By	Reported Hours
97957	7869 - repairs	Sienna Campbell	0.00

Work Order: 54022
Equipment: D6T LGP CAT DOZER [7869]
Work Location: Current Equipment Location
Created by: Brittinnl Lockard
Kms: 9000
Hr: 9003

Status: Closed
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date: 5/13/2024
Stop Date: 5/13/2024

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	4.00 RT	Shop Lube	\$41.17	\$164.68
			Total Labor	\$164.68
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$164.68

Item ID	Description	Completed By	Reported Hours
79129	0500 Hour Service	Anthony Rodriguez	4.00

- * Change engine oil.
- * Change all filters.
- * Check pivot shaft oil.
- * Check equalizer bar oil.
- * Check all fluids.
- * Complete grease.
- * Sample all oils.

Work Order: 54383
Equipment: D6T LGP CAT DOZER [7869]
Work Location: Current Equipment Location
Created by: Brian MacDonald
Kms: 9000
Hr: 9003

Status: Closed
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date: 5/25/2024
Stop Date: 5/25/2024

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
BRIAN MACDONALD	3.50 RT	Shop Mech Field	\$59.34	\$207.69
			Total Labor	\$207.69
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$207.69

Item ID	Description	Completed By	Reported Hours
---------	-------------	--------------	----------------

99722	7869 steering leak	Brittinni Lockard	3.50
Work Order:	54685	Status:	Closed
Equipment:	D6T LGP CAT DOZER [7869]	Serial Number:	CAT00D6TCK1R00172
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Clayton Michelson	Start Date:	
Kms:	9000	Stop Date:	
Hr:	9003		

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
CLAYTON MICHELSON	11.00	RT Shop Weld Field	\$55.71	\$612.81
			Total Labor	\$612.81
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$612.81

Item ID	Description	Completed By	Reported Hours
100271	7869 cut corks	Andrew Matus	11.00

Work Order:	55716	Status:	Closed
Equipment:	D6T LGP CAT DOZER [7869]	Serial Number:	CAT00D6TCK1R00172
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Brittinni Lockard	Start Date:	7/4/2024
Kms:	9000	Stop Date:	7/4/2024
Hr:	9003		

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	1.00	RT Shop Lube	\$41.17	\$41.17
			Total Labor	\$41.17
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$41.17

Item ID	Description	Completed By	Reported Hours
100870	0250 Hour Service	Anthony Rodriguez	1.00

- * Change engine oil.
- * Change engine filters -- oil and air.
- * Check all fluids.
- * Complete grease.
- * Sample engine oil.

Work Order: 56394
Equipment: D6T LGP CAT DOZER [7869]
Work Location: Current Equipment Location
Created by: Brittinni Lockard
Kms: 9000
Hr: 9003

Status: Closed
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date:
Stop Date:

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
			Total Labor	\$0.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$0.00

Item ID	Description	Completed By	Reported Hours
103248	7869 - REPLACE DEF TANK	Sienna Campbell	0.00

Work Order: 56747
Equipment: D6T LGP CAT DOZER [7869]
Work Location: Current Equipment Location
Created by: Brittinni Lockard
Kms: 9000
Hr: 9003

Status: Closed
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date:
Stop Date:

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
AARON SAMUELSON	3.00	RT Shop Mech Field	\$59.34	\$178.02
			Total Labor	\$178.02
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$178.02

Item ID	Description	Completed By	Reported Hours
103875	7869 - CHECK OVER	Brittinni Lockard	3.00

Work Order: 60955
Equipment: D6T LGP CAT DOZER [7869]
Work Location: Current Equipment Location
Created by: Brittinni Lockard
Kms: 9000
Hr: 9003

Status: Closed
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date:
Stop Date:

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
AARON SAMUELSON	1.00 RT	Shop Mech Field	\$59.34	\$59.34
			Total Labor	\$59.34
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$59.34

Item ID	Description	Completed By	Reported Hours
111375	7869 - EXHAUST LEAK	Carla Merklin	1.00

Work Order: 61034
Equipment: D6T LGP CAT DOZER [7869]
Work Location:
Created by: Brittinni Lockard
Kms: 9000
Hr: 9003

Status: Closed
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date:
Stop Date:

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
STEVEN MICKLEBORO	4.50 RT	Shop Lube	\$41.17	\$185.27
			Total Labor	\$185.27
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$185.27

Item ID	Description	Completed By	Reported Hours
109249	1000 Hour Service	Carla Merklin	4.50

- * Change all filters.
- * Change engine oil.
- * Change transmission oil.
- * Change final drive oils.
- * Change winch oil (if applicable).
- * Check pivot shaft oil.
- * Check equalizer bar oil.
- * Check all fluids.
- * Complete grease.
- * Sample all oils.

Work Order: 61487
Equipment: D6T LGP CAT DOZER [7869]
Work Location: Current Equipment Location
Created by: Brittinni Lockard
Kms: 9000
Hr: 9003

Status: Transferred
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date:
Stop Date:

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
AARON SAMUELSON	5.00 RT	Shop Mech Field	\$59.34	\$296.70
			Total Labor	\$296.70
HOSE [4583934]	1.00 Each		\$78.41	\$78.41
HOSE ASY [4652332]	1.00 Each		\$312.13	\$312.13
			Total Parts	\$390.54
			Total Equip	\$0.00
				Total Cost \$687.24

Item ID	Description	Completed By	Reported Hours
112506	7869 - REMOVE BROKEN BOLT FOR ENG OIL DRAIN	Carla Merklin	5.00

Work Order: 61970
Equipment: D6T LGP CAT DOZER [7869]
Work Location: Current Equipment Location
Created by: Brittinni Lockard
Kms: 9000
Hr: 9003

Status: Transferred
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date:
Stop Date:

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
AARON SAMUELSON	13.50 RT	Shop Mech Field	\$59.34	\$801.09
			Total Labor	\$801.09
			Total Parts	\$0.00
			Total Equip	\$0.00
				Total Cost \$801.09

Item ID	Description	Completed By	Reported Hours
113576	7869 - T/S TRANS LEAK	Carla Merklin	13.50

Work Order: 63076
Equipment: D6T LGP CAT DOZER [7869]
Work Location: Current Equipment Location
Created by: Kale Hemphill
Kms: 9000
Hr: 9003

Status: Closed
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date: 1/23/2025
Stop Date: 1/23/2025

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
			Total Labor	\$0.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$0.00

Item ID	Description	Completed By	Reported Hours
115395	7869 checkover	Kale Hemphill	0.00

Work Order: 62967
Equipment: D6T LGP CAT DOZER [7869]
Work Location: Current Equipment Location
Created by: Randy Wearmouth
Kms: 9000
Hr: 9003

Status: Closed
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date: 1/24/2025
Stop Date: 1/24/2025

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
KALE HEMPHILL	12.00	RT Shop Mech Field	\$59.34	\$712.08
			Total Labor	\$712.08
4" SQUARE - 60D FLOOD 80W *OES ORDER FROM NORTHERN LIGHTS ARE IN STOCK* [N174860]	1.00	Each	\$52.40	\$52.40
4" SQUARE - 60D FLOOD 80W *OES ORDER FROM NORTHERN LIGHTS ARE IN STOCK* [N174860]	3.00	Each	\$52.40	\$157.20
BEARING - SPHERICAL PLAIN {9M1328, SBB-32} [GEZ50ES2RS]	1.00	Each	\$44.65	\$44.65
BEARING {5107300, 1600305} [GEG60ES2RS]	1.00	Each	\$89.02	\$89.02
SPHERICAL PLAIN BEARING {8T0333, AT128773} PITCH LINK [GE50ES2RS]	2.00	Each	\$56.69	\$113.38
			Total Parts	\$456.65
			Total Equip	\$0.00
			Total Cost	\$1,168.73

Item ID	Description	Completed By	Reported Hours
115197	7869- CHECK OVER	Carla Merklin	12.00

Work Order: 63063
Equipment: D6T LGP CAT DOZER [7869]
Work Location:
Created by: Brittinni Lockard
Kms: 9000
Hr: 9003

Status: Closed
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date:
Stop Date:

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
			Total Labor	\$0.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$0.00

Item ID	Description	Completed By	Reported Hours
115380	7869 - t/s and repair for fuel dilution	Brittinni Lockard	0,00

Work Order: 63071
Equipment: D6T LGP CAT DOZER [7869]
Work Location: Current Equipment Location
Created by: Clayton Michelson
Kms: 9000
Hr: 9003

Status: Closed
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date: 1/28/2025
Stop Date: 1/28/2025

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
CLAYTON MICHELSON	16.00	RT Shop Weld Field	\$55.71	\$891.36
			Total Labor	\$891.36
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$891.36

Item ID	Description	Completed By	Reported Hours
115390	corking	Carla Merklin	16,00

Work Order: 63074
Equipment: D6T LGP CAT DOZER [7869]
Work Location: Current Equipment Location
Created by: Clayton Michelson
Kms: 9000
Hr: 9003

Status: Closed
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date: 1/28/2025
Stop Date: 1/28/2025

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
CLAYTON MICHELSON	4.50 RT	Shop Weld Field	\$55.71	\$250.70
			Total Labor	\$250.70
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$250.70

Item ID	Description	Completed By	Reported Hours
115393	corking	Carla Merklin	4.50

Work Order: 63432
Equipment: D6T LGP CAT DOZER [7869]
Work Location: Current Equipment Location
Created by: Carla Merklin
Kms: 9000
Hr: 9003

Status: Closed
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date: 2/5/2025
Stop Date: 2/5/2025

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ALLAN SUTHERLAND	12.00 RT	Shop Mech Field	\$59.34	\$712.08
JOHN BARGEN	11.00 RT	Shop Mech Field	\$59.34	\$652.74
NEIL FERRIS	2.00 RT	Shop Mech Field	\$59.34	\$118.68
			Total Labor	\$1,483.50
HOSE [5124883]	1.00 Each		\$240.84	\$240.84
IDLER BOLTS {6V9167} [2952409]	8.00 Each		\$23.72	\$189.76
			Total Parts	\$430.60
			Total Equip	\$0.00
			Total Cost	\$1,914.10

Item ID	Description	Completed By	Reported Hours
116065	7869 - LH ANGLE CYLINDER LEAK	Brittinni Lockard	25.00

Work Order: 64433
Equipment: D6T LGP CAT DOZER [7869]
Work Location: Current Equipment Location
Created by: Brittinni Lockard
Kms: 9000
Hr: 9003

Status: Closed
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date: 3/4/2025
Stop Date: 3/4/2025

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	3.00 RT	Shop Lube	\$41.17	\$123.51
			Total Labor	\$123.51
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$123.51

Item ID	Description	Completed By	Reported Hours
116706	0500 Hour Service	Anthony Rodriguez	3.00

- * Change engine oil.
- * Change all filters.
- * Check pivot shaft oil.
- * Check equalizer bar oil.
- * Check all fluids.
- * Complete grease.
- * Sample all oils.

Work Order: 64964
Equipment: D6T LGP CAT DOZER [7869]
Work Location: Current Equipment Location
Created by: Brittinni Lockard
Kms: 9000
Hr: 9003

Status: Closed
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date: 3/17/2025
Stop Date: 3/17/2025

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	1.50 RT	Shop Lube	\$41.17	\$61.76
			Total Labor	\$61.76
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$61.76

Item ID	Description	Completed By	Reported Hours
---------	-------------	--------------	----------------

118446 0250 Hour Service

Anthony Rodriguez

1.50

- * Sample engine oil.
- * Check all fluids.
- * Complete grease.

Work Order:	65109	Status:	Closed
Equipment:	D6T LGP CAT DOZER [7869]	Serial Number:	CAT00D6TCK1R00172
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Carla Merklin	Start Date:	3/19/2025
Kms:	9000	Stop Date:	3/19/2025
Hr:	9003		

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
JOHN BARGEN	12.00 RT	Shop Mech Field	\$59.34	\$712.08
TEVIN FERRIS	5.00 RT	Shop Mech Field	\$59.34	\$296.70
		Total Labor		\$1,008.78
SEAT SLIDE BLOCKS [1737035]	1.00 Each		\$60.88	\$60.88
		Total Parts		\$60.88
		Total Equip		\$0.00
		Total Cost		\$1,069.66

Item ID	Description	Completed By	Reported Hours
119103	7869 - seat repair	Brittinni Lockard	17.00

Work Order:	65526	Status:	Closed
Equipment:	D6T LGP CAT DOZER [7869]	Serial Number:	CAT00D6TCK1R00172
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Nathan Sak	Start Date:	4/1/2025
Kms:	9000	Stop Date:	4/1/2025
Hr:	9003		

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
NATHAN SAK	9.50 RT	Shop Tire Tech	\$36.33	\$345.14
		Total Labor		\$345.14
		Total Parts		\$0.00
		Total Equip		\$0.00
		Total Cost		\$345.14

Item ID	Description	Completed By	Reported Hours
119970	Undercarriage Work	Nathan Sak	9.50

Work Order: 65593
Equipment: D6T LGP CAT DOZER [7869]
Work Location: Current Equipment Location
Created by: Kaleb Gates
Kms: 9000
Hr: 9003

Status: Closed
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date: 4/1/2025
Stop Date: 4/1/2025

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ALLAN SUTHERLAND	8.00	RT Shop Mech Field	\$59.34	\$474.72
KALEB GATES	30.00	RT Shop Mech Field	\$59.34	\$1,780.20
MATTHEW GERVAIS	59.50	RT Shop Mech Field	\$59.34	\$3,530.73
TREVOR IRONSIDE	2.00	RT Shop Weld Field	\$55.71	\$111.42
		Total Labor		\$5,897.07
13" WIPER BLADE {60131, 330 mm} [20131]	3.00	Each	\$5.55	\$16.65
BULB - 24V, 70 W {121-H3-4} [H370]	2.00	Each	\$5.10	\$10.19
BULB - 24V, 70 W {121-H3-4} [H370]	3.00	Each	\$5.16	\$15.47
CHECK VALVE WASHER FLUID {AT361113} [4449544]	3.00	Each	\$13.08	\$39.24
FILTER LUBE {DON: DBL7405 FLG: LF3566} [2444484]	1.00	Each	\$57.07	\$57.07
ORING [4J5573]	1.00	Each	\$5.73	\$5.73
ORS CAP {NFF0304-C-04, FS0304C04} [4FNLS]	2.00	Each	\$1.85	\$3.70
ORS PLUG {FS2408-04} [4PNLOS]	2.00	Each	\$1.41	\$2.82
PIN (GOES WITH 1U3352WTL) [8E6358]	3.00	Each	\$3.90	\$11.71
RETAINER {XR 6Y9459, 6Y2527} [8E6359]	3.00	Each	\$3.66	\$10.98
SPHERICAL PLAIN BEARING {8T0333, AT128773} PITCH LINK [GE50ES2RS]	2.00	Each	\$58.39	\$116.78
START O-RING [3518955]	1.00	Each	\$35.41	\$35.41
STARTER GASKET (CAT) [4H7869]	1.00	Each	\$6.50	\$6.50
TOOTH - RIPPER TIP (TYPE 2) {FC350R2, RC350 R2} [6Y0359]	3.00	Each	\$77.09	\$231.26
TRACK GP [5945682]	1.00	Each	\$9,188.94	\$9,188.94
TRACK GP [5945683]	1.00	Each	\$9,188.94	\$9,188.94
		Total Parts		\$18,941.39
		Total Equip		\$0.00
		Total Cost		\$24,838.46

Item ID	Description	Completed By	Reported Hours
120087	7869-under carriage/injectors	Carla Merklin	99.50

Work Order: 65578
Equipment: D6T LGP CAT DOZER [7869]
Work Location: Current Equipment Location
Created by: Nathan Sak
Kms: 9000
Hr: 9003

Status: Closed
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date: 4/2/2025
Stop Date: 4/2/2025

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
NATHAN SAK	4.50 RT	Shop Tire Tech	\$36.33	\$163.49
			Total Labor	\$163.49
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$163.49

Item ID	Description	Completed By	Reported Hours
120063	Undercarriage Work	Nathan Sak	4.50

Work Order: 67244
Equipment: D6T LGP CAT DOZER [7869]
Work Location: Current Equipment Location
Created by: Brian MacDonald
Kms: 9000
Hr: 9003

Status: Closed
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date: 5/13/2025
Stop Date: 5/13/2025

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
BRIAN MACDONALD	2.00 RT	Shop Mech Field	\$59.34	\$118.68
			Total Labor	\$118.68
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$118.68

Item ID	Description	Completed By	Reported Hours
122933	7869 check overheating	Brittinni Lockard	2.00

Work Order: 68471
Equipment: D6T LGP CAT DOZER [7869]
Work Location:
Created by: Brittinni Lockard
Kms: 9000
Hr: 9003

Status: Closed
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date:
Stop Date:

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
			Total Labor	\$0.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$0.00

Item ID	Description	Completed By	Reported Hours
125042	7869 - FINNING REPAIR FOR TRACK RAILS	Brittinni Lockard	0.00

Work Order: 68626
Equipment: D6T LGP CAT DOZER [7869]
Work Location: Current Equipment Location
Created by: Matthew Gervais
Kms: 9000
Hr: 9003

Status: Closed
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date: 6/12/2025
Stop Date: 6/12/2025

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
MATTHEW GERVAIS	3.50	RT Shop Mech Field	\$59.34	\$207.69
			Total Labor	\$207.69
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$207.69

Item ID	Description	Completed By	Reported Hours
125224	7869 Engine over heating	Brittinni Lockard	3.50

Work Order: 68756
Equipment: D6T LGP CAT DOZER [7869]
Work Location:
Created by: Brittinni Lockard
Kms: 9000
Hr: 9003

Status: Closed
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date:
Stop Date:

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
			Total Labor	\$0.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$0.00

Item ID	Description	Completed By	Reported Hours
125442	7869 - FINNING REPAIR FOR FAILED INJECTORS	Brittinni Lockard	0.00

Work Order: 69022
Equipment: D6T LGP CAT DOZER [7869]
Work Location: Current Equipment Location
Created by: Brittinni Lockard
Kms: 9000
Hr: 9003

Status: Closed
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date: 6/19/2025
Stop Date: 6/19/2025

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
BARTLEY WEST	8.50	RT Shop Weld Field	\$55.71	\$473.54
			Total Labor	\$473.54
ORING [3054484]	3.00	Each	\$6.55	\$19.65
REGULATOR [3773016]	1.00	Each	\$252.58	\$252.58
SEAL - O-RING [8T5917]	1.00	Each	\$4.28	\$4.28
SEAL ORING [2197000]	1.00	Each	\$9.25	\$9.25
SENSOR GP- COOLANT TEMP [2566453]	1.00	Each	\$108.15	\$108.15
SENSOR GP- COOLANT TEMP [2566453][Custom]	1.00	Each	(\$108.15)	(\$108.15)
			Total Parts	\$285.76
			Total Equip	\$0.00
			Total Cost	\$759.30

Item ID	Description	Completed By	Reported Hours
125810	7869 - OVERHEATING	Brittinni Lockard	8.50

Work Order: 69264
Equipment: D6T LGP CAT DOZER [7869]
Work Location: Current Equipment Location
Created by: Carla Merklin
Kms: 9000
Hr: 9003

Status: Closed
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date: 6/24/2025
Stop Date: 6/24/2025

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	5.50 RT	Shop Lube	\$41.17	\$226.44
			Total Labor	\$226.44
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$226.44

Item ID	Description	Completed By	Reported Hours
123870	1000 Hour Service	Carla Merklin	5.50

- * Change all filters.
- * Change engine oil.
- * Change transmission oil.
- * Change final drive oils.
- * Change winch oil (if applicable).
- * Check pivot shaft oil.
- * Check equalizer bar oil.
- * Check all fluids.
- * Complete grease.
- * Sample all oils.

Work Order: 69976
Equipment: D6T LGP CAT DOZER [7869]
Work Location: Current Equipment Location
Created by: Brittinni Lockard
Kms: 9000
Hr: 9003

Status: Closed
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date: 7/10/2025
Stop Date: 7/10/2025

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
KURT WIRDA	9.00 RT	Shop Mech Field	\$59.34	\$534.06
			Total Labor	\$534.06
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$534.06

Item ID	Description	Completed By	Reported Hours
127417	7869 - LEAKING ANGLE CYLINDER	Brittinni Lockard	9.00

Work Order: 70542
Equipment: D6T LGP CAT DOZER [7869]
Work Location: Current Equipment Location
Created by: Charles Hamelin
Kms: 9000
Hr: 9003

Status: Closed
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date: 7/21/2025
Stop Date: 7/21/2025

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
J. HAMELIN	1.00 RT	Shop Lube	\$41.17	\$41.17
			Total Labor	\$41.17
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$41.17

Item ID	Description	Completed By	Reported Hours
127592	0250 Hour Service	Charles Hamelin	1.00

- * Sample engine oil.
- * Check all fluids.
- * Complete grease.

Work Order: 70552
Equipment: D6T LGP CAT DOZER [7869]
Work Location: Current Equipment Location
Created by: Brittinni Lockard
Kms: 9000
Hr: 9003

Status: Closed
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date: 7/22/2025
Stop Date: 7/22/2025

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
			Total Labor	\$0.00
CYL SEAL KIT MH7 **SEE NOTES** [6PIDHER00001]	1.00	Each	\$243.96	\$243.96
			Total Parts	\$243.96
			Total Equip	\$0.00
			Total Cost	\$243.96

Item ID	Description	Completed By	Reported Hours
128286	7869 - LH BLADE ANGLE CYLINDER	Brittinni Lockard	0.00

Work Order: 71543
Equipment: D6T LGP CAT DOZER [7869]
Work Location: Current Equipment Location
Created by: Kevin Gordan
Kms: 9000
Hr: 9003

Status: Closed
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date: 8/12/2025
Stop Date: 8/12/2025

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
HERMANN KUKOWSKI	9.50 RT	Shop Mech Field	\$59.34	\$563.73
			Total Labor	\$563.73
TRACK BOLT [9S1838]	4.00 Each		\$5.37	\$21.47
			Total Parts	\$21.47
			Total Equip	\$0.00
			Total Cost	\$585.20

Item ID	Description	Completed By	Reported Hours
130177	7869-CHANGE IDLER	Brittinni Lockard	9.50

Work Order: 72715
Equipment: D6T LGP CAT DOZER [7869]
Work Location: Current Equipment Location
Created by: Carla Merklin
Kms: 9000
Hr: 9003

Status: Closed
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date: 9/5/2025
Stop Date: 9/5/2025

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
STEVEN MICKLEBORO	3.00 RT	Shop Lube	\$41.17	\$123.51
			Total Labor	\$123.51
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$123.51

Item ID	Description	Completed By	Reported Hours
131227	0500 Hour Service	Carla Merklin	3.00

- * Change engine oil.
- * Change all filters.
- * Check pivot shaft oil.
- * Check equalizer bar oil.
- * Check all fluids.
- * Complete grease.
- * Sample all oils.

Work Order:	74840	Status:	Closed
Equipment:	D6T LGP CAT DOZER [7869]	Serial Number:	CAT00D6TCK1R00172
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Carla Merklin	Start Date:	10/23/2025
Kms:	9000	Stop Date:	10/23/2025
Hr:	9003		

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
			Total Labor	\$0.00
FILTER AIR {DON: 5771435} [5771435]	1.00	Each	\$119.28	\$119.28
FILTER AIR {DON: P638607} [3318108]	1.00	Each	\$50.05	\$50.05
			Total Parts	\$169.33
			Total Equip	\$0.00
			Total Cost	\$169.33

Item ID	Description	Completed By	Reported Hours
135811	0250 Hour Service	Carla Merklin	0.00

- * Sample engine oil.
- * Check all fluids.
- * Complete grease.

Work Order: 75633
Equipment: D6T LGP CAT DOZER [7869]
Work Location: Current Equipment Location
Created by: Brittinni Lockard
Kms: 9000
Hr: 9003

Status: Closed
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date: 11/13/2025
Stop Date: 11/13/2025

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
			Total Labor	\$0.00
CORNER BIT [9W8874]	1.00	Each	\$72.48	\$72.48
CORNER BIT [9W8875]	1.00	Each	\$72.48	\$72.48
			Total Parts	\$144.95
			Total Equip	\$0.00
			Total Cost	\$144.95

Item ID	Description	Completed By	Reported Hours
137941	7869 - CUTTING EDGE	Brittinni Lockard	0.00

Work Order: 75835
Equipment: D6T LGP CAT DOZER [7869]
Work Location: Current Equipment Location
Created by: Kai Ehn
Kms: 9000
Hr: 9003

Status: Closed
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date: 11/18/2025
Stop Date: 11/18/2025

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
BARTLEY WEST	4.00	RT Shop Mech Field	\$59.34	\$237.36
KAI EHN	2.00	RT Shop Mech OES	\$0.00	\$0.00
			Total Labor	\$237.36
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$237.36

Item ID	Description	Completed By	Reported Hours
138326	7869 flip cutting edges/replace corner bits	Brittinni Lockard	6.00

Work Order: 77540
Equipment: D6T LGP CAT DOZER [7869]
Work Location: Current Equipment Location
Created by: Carla Merklin
Kms: 9000
Hr: 9003

Status: Closed
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date: 1/6/2026
Stop Date: 1/6/2026

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
STEVEN MICKLEBORO	8.00 RT	Shop Lube	\$41.17	\$329.36
			Total Labor	\$329.36
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$329.36

Item ID	Description	Completed By	Reported Hours
139158	1000 Hour Service	Brittinni Lockard	8.00

- * Change all filters.
- * Change engine oil.
- * Change transmission oil.
- * Change final drive oils.
- * Change winch oil (if applicable).
- * Check pivot shaft oil.
- * Check equalizer bar oil.
- * Check all fluids.
- * Complete grease.
- * Sample all oils.

Work Order: 77924
Equipment: D6T LGP CAT DOZER [7869]
Work Location: Current Equipment Location
Created by: Brittinni Lockard
Kms: 9000
Hr: 9003

Status: Scheduled
Serial Number: CAT00D6TCK1R00172
Business Unit: Machinery
Start Date: 1/15/2026
Stop Date: 1/15/2026

Item ID	Description	Completed By	Reported Hours
141738	7869 - SALES PREP		11.50